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Sl. No.1
QBID:1007026

Choose the appropriate preposition to complete the sentence.

We have been living 1n this ecity ——— 2010.

(1) for
(2) =ince
(3) from

(4) about
Fpferfiga @ | -1 W 31916 27
(1) F(FO) - =R

(2) @M (F9FA) - &9

(3) T(TW)-&H

(4) 99 (&) - |9

1[Option ID=1601]
2[Option ID=1602]
3[Option ID=1603]
4[Option ID=1604]

Sl. No.2
QBID:1007027

Identify the meaning of the underlined 1idiom from the options given.

Sonal always gives a cold shoulder to Ritesh because of his anobbish behaviour.

(1) 1insults him whenever she meets him
(2) argues with him on any issue
(3) shouts at him whenever she sees him

(4) tries to be unfriendly to him

freaferfiaa | & 3o geard M -4 v1e3 3795 27




(1)  FmEfETs
(2) U=

(3) i
(4) AMETEH

1[Option ID=1605]
2[Option ID=1606]
3[Option ID=1607]
4[Option ID=1608]

Sl. No.3
QBID:1007028

Choose the correct option to make a meaningful sentence

Sasha that she would get a part in the inheritance left by her grandfather.

(1) has hoped
(2) 1s hoped
(3) had hoped

(4) have hoped

= I =g g= 111 Tem it

L 11
(A) T @ FroFEgzmdzmas
(B) Hexdrel (D) gl gr=d aren
(C) (ITT) & 1 a3 =1 |98 2
(D) gresfi (IV) 451 | et Jrel
14 fau o faeredi | 4 |l 3T #1921 Fifae -

(1) (A)-IID. (B)-IV). (O)-@). (D)-ID)
(2) (A)-D. B)-IM). (O)-(IV). (D)-ID
(3) (A)-ID. (B)-(I). (C)-(III). (D)-(IV)
(@) A)-AV). (B)-1D. (C)-(D). (D)-(IL)

1[Option ID=1609]
2[Option ID=1610]




3[Option ID=1611]
4[Option ID=1612]

Sl. No.4
QBID:1007029

Identify the correct form of noun of the word given below.
Abject
(1) abjectly
(2) abjection
(3) abjectively

(4) abjects

= g1 e fau o 2 vk SAfU (Assertion (A)) % 9 H foifigd @ @1 g0 396 FW (Reasons (R)) F
w9 ;

AfERaA (A) et Faredt e on 1 1 = on ool Jaswterss a2

F (R) : i JehTel | T 2 2 o6 o i 0 g sEd w6y o g9 2
IR A o ATk 4, 919 fou e fasei § § v 399 39 1 =2 it
(1) (A) 3 (R) HI¥E & 3 (R), (A) I 96 s @

(2) (A) I (R) 51 T &, A (R), (A) 1 wefl =amen 7 @

(3) (A)HWEN R, AfF (R) el 78 2

(4) (A)®ETE 2, o (R) 981 2

1[Option ID=1613]
2[Option ID=1614]
3[Option ID=1615]
4[Option ID=1616]

Sl. No.5
QBID:1007030

Identify antonym for the underhned word in the sentence.

The NGO focused on those women who had succumbed to his sweet lies and personality.
(1) identified
(2) overcome
(3) &iven up

(4)




surrendered

9 g1 oA feu mu - v Afused (Assertion (A)) % ¥4 forfigd 2 &1 g50 396 F1 (Reasons (R)) %
®9H :

HANFIT (A) : T W I AT F A1 H A et = wam e s 2)

FI (R) : ST SH1 ki § I faufa stem-srem w0 1 wgad 2l 21 0w #nes | 8 Y @ &
Ta 1 A TNl B, Tl SUEH ek § W H foRE T & A 81 1 9E U g 2

I e & AT 4, 99 e e e § 8 ud 39 99 it

(1) (A) 3 (R) 3HI T3 2 3 (R), (A) 1 ol =men 2

(2) (A) 3N (R) a1 de4 8, Ao (R), (A) 1wl s 48 2
(3) (A) ¥ 2, & (R) 376 2

(4) (A) 318 2, i (R) Hed 2

1[Option ID=1617]
2[Option ID=1618]
3[Option ID=1619]
4[Option ID=1620]

Sl. No.6
QBID:1007031

Find correctly spelt word from the options given below.
(ONLY one word 1s spelt correctly)
(1) Harassment
(2) Embarassment
(3) Agrement

(4) Alotment




famrferfia i ad qm # -

(A)
(B)
(©)
(D)

(E)

=

(1)
(2)
(3)

(4)

g
R
T T
w13: ¥
efft—<fft

T e fasred| | § |l 39 &1 =194 fifae ;

(A). (B) 31 (C)
(A). (B) 31 (D)
(B). (C) 31 (E)

(). (D) 3R (E)

1[Option ID=1621]
2[Option ID=1622]
3[Option ID=1623]
4[Option ID=1624]

Sl. No.7

QBID:

1007032

Identify the correct passive voice for the sentence given below :

People consider that Sajesh 1s honest and trust worthy

(1)

(2)

(3)

(4)

It was considered that Sajesh was honest and trust worthy.
We were considered that Sajesh was honest and trust worthy.
It 1s considered that Sajesh 1s honest and trust worthy.

It will be considered that Sajesh 1s honest and trust worthy.




Bl EAEER R

Feal:  fe= 0T i s o 3= HeEa | frg g )

FYAIL:  dcEd Teai ° off U 3T 3t =1 I=mn Hegka | fis & 2

ILIR A & AT H, A= feu o e O 3 od 39 e =91 it

(1) =y I 3 I EH |91 2

(2) =y I 3 IS TTerd 2
(3) Fed [ HET 2, eAfeha Fea 11 774 &

(4) FUF I7TeTd 2, eAfehd ed 1151 2

1[Option ID=1625]
2[Option ID=1626]
3[Option ID=1627]
4[Option ID=1628]

Sl. No.8
QBID:1007033

Identify the correct indirect speech for the sentence given below.
Manju said, T printed the invitations and he faxed 1t”.
(1) Manju told that she printed the invitations and him faxed it.
(2) Manju suggested that she printed the invitations he faxed it.
(3) Manju asked that she printed the invitations they faxed 1t.

(4) Manju said that she printed the invitations and he faxed it.

1 g1 e fqu e 2 : usk AU (Assertion (A)) % &9 H foAfiEd 2 a1 g5R1 359 #1001 (Reasons (R)) &
®9H .

AR (A): TR A 9 e A F o o geret w8 wEm R S 2, 97 @ - e g b
RESIE

FH (R) HAivyen § 379 o4 T 36 YTl 1 FIE q a3 A feerm |

IR FHeH o AT 4, 99 fEu e e § 8 gd I 99 it

(1)




(A) 3 (R) 21 T3 2 3 (R), (A) 1 Ul sarem 2
(2) (A) 3 (R) 341 9ed &, A (R), (A) Fi 9 =aren 78 &
(3) (A)HE &, ¥ (R) 344 &

(4) (A) 39 2, ol (R) 93 2

1[Option ID=1629]
2[Option ID=1630]
3[Option ID=1631]
4[Option ID=1632]

Sl. No.9
QBID:1007034

Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) We ascribe to them supernatural powers.
(B) But let’s not be naive - cats do what they want.
(C) We even make them embody our deepest wish. immortality.

(D)  We poor humans make cats depositories of our desires : we find them mysterious, we

make them gods.

Choose the correct answer from the options given below :

(1) (D). (A). (C). (B)
(2) (D). (C). (B). (A)
(3) (B). (D). (C). (A)

(4) (A). (C). (B). (D)




Fr=ferfiga W =14 9168 et & warnef 27

(A)
(B)
(©)

(D)

4 4 49 43 4

(E)

1 fou 7Tu faered 0 | 92 3 &1 999 Fifau ;

(1) e (A), (B) 31T (C)
(2) Fad (A), (C) H(E)

(3) Had (B). (C) 31 (D)

(4) had (C). (D) #1 (E)

1[Option ID=1633]
2[Option ID=1634]
3[Option ID=1635]
4[Option ID=1636]

Sl. No.10
QBID:1007035

From among the four options given. choose the grammatically correct sentence.

(1) Millions of us take a multivitamin every day and we feel confident that we are getting
results.
Millions of us taking a multivitamin every day and feeling confident that we are

(2) getting results.

3) Millions of us take a multivitamin every days and we felt confident that we 1s getting
results.
Milhions of you take a multivitamin every day and we feel confidence that we are get

4 result.




(A) fmawdd
(B) &K 9eq
(C) foraad=m

(D) R AMNEdd 3

(B)  dfFa % 39 siyar 9 ag

1= feu e faeredi | 4 |l 3 =1 == Fifee
(1) (A). (B). (C), (D). (E)
(2) (B). (C). D). (E). (A)
(3) (C). (B). (D). (E). (&)
(4) (D). (E). A4). (B). (C)

1[Option ID=1637]
2[Option ID=1638]
3[Option ID=1639]
4[Option ID=1640]

Sl. No.11
QBID:1007036

Consider the following pairs :

(A) Chapchar Kut — Mizoram
(B) Khongjom Parba ballad — Manipur

(C) Thang-Ta dance — Sikkim

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A)and (C) only

(3) (B) and (C) only

(4) (A). (B) and (C) only




feptferfirn ot v forerm oifom -

(A)  FER Fe - e
(B)  @iTeiE U deelre - gfing

(C)  am-21 3@ - fafFm
e fau o fashedi | & ol 37 o1 =94 Fifso

(1) e (A) 3T (B)
(2) FHa (A) 3R (C)

(3)  FHae (B) 311 (C)

(4) FF€ (A), (B) 3T (C)

1[Option ID=1641]
2[Option ID=1642]
3[Option ID=1643]
4[Option ID=1644]

Sl. No.12
QBID:1007037

Match List T with Last IT

ListI List IT

(A) Fourth Schedule (I)  Admimistration of Tribal
Areas of Assam. Meghalaya.
Tripura and Mizoram

(B) Sixth Schedule (I) Anti-Defection Laws

(C) Eighth Schedule (IIT) Allocation of Seats for State
and UT's in Rajya Sabha

(D) Tenth Schedule (IV) Official Languages

Choose the correct answer from the options given below :

(1) (A)-@). B)-1ID). (C)-a1ID). (D)-(IV)
(2) (A)-(D. (B)-IID). (C)-(IV). (D)-(ID
(3) (A)IV). (B)-IID. (C)-D). (D)-(D
(4) (A)-(IID). (B)-D). (C)-(IV), (D)-(II)




|1 1% |9 F=h I fuerm fifso

HqA-1 H1-11
(A)  =efi s (M sm, gareE, o st foswn
ST &1 1 T9EA
(B) =i g @) = e - FE
(C) zmedi gy (IIT) T=gay] 4 Tr=a] iR qeenfad &
2 Hiel =1 fafqam
(D) &l SE (IV) sATferaTieR |

el T o fasedi 4 | |8 3w 1= Fif .

(1) (A)-(D). B)-ID). (C)-II). (D)-IV)
(2) (A)-(I). (B)-(III). (C)-(IV). (D)-(ID)
(3) (A)-(IV). (B)-(II), (C)-aI). (D)-()
(4) (A)-IID). B)-(I). (C)-(IV). (D)-(ID

1[Option ID=1645]
2[Option ID=1646]
3[Option ID=1647]
4[Option ID=1648]

Sl. No.13
QBID:1007038

Arrange the following in chronological order :

(A) Tughlags

(B) Lodhis

(C) Savvids

(D) [bari Turks
(E) Khaljs

Choose the correct answer from the options given below :

(1) (B). (A). (C). (D). (E)
(2) (E). (&4). D). (C). (B)

(3) (D). (E). (A). (C). (B)

(4) (D). (C), (B). (A). (E)




Feafeafiaa =1 srermgea 1 sqafiaq Fifu

A) T
B) il

(C) H=me

(D)  geardl g
(E) e

T fau o fasreai 4 & w3 1 =g Fife

(1) (B). (A). (C), D). (B)
(2) (E). ). D). (C). (B)
(3) (D). (E). (A). (C). (B)
4) (D). (C). (B). (A). (E)

1[Option ID=1649]
2[Option ID=1650]
3[Option ID=1651]
4[Option ID=1652]

Sl. No.14
QBID:1007039

Who 1s won the Nobel Prize in Literature 20217
(1) Haruki Murakami
(2) Abdulrazak Gurnah

(3) Paul Kegnor

(4) dJoseph Stuart

ay 2021 = HEed o lelel FEhH {1 i 2 7

(1) =rh] gareprd
(2) HEEALTHF Tz
(3) Ui &

(4) STHE w2

1[Option ID=1653]




2[Option ID=1654]
3[Option ID=1655]
4[Option ID=1656]

Sl. No.15
QBID:1007040

Who has been appointed as the new vice-president of NITI Aayog?

(1) Suman Berry
(2) Rajiv Kumar

(3) Surjt Bhalla

(4) Jay Bhattacharya

fifer st % 79 urens % w0 O R g fn
(1) HEA =
(2) Trfd FHHE
(3) HTSid gee
(4) 4 9zeEd

1[Option ID=1657]
2[Option ID=1658]
3[Option ID=1659]
4[Option ID=1660]

Sl. No.16
QBID:1007041

If IMAGE 1s written as 0913010705, then how will BOUGHT be written as
(1) 215021708112

(2) 021521070820

(3) 040603122612

(4) 025121702180

7f¢ IMAGE %1 0913010705 1 oz feran =1 2 @1 BOUGHT &1 % foren strom?
(1) 215021708112

(2) 021521070820

(3) 040603122612

(a) 025121702180




1[Option ID=1661]
2[Option ID=1662]
3[Option ID=1663]
4[Option ID=1664]

Sl. No.17
QBID:1007042

In a family, there i1s a man, his wife, his father-in-law, two sons, their wives and two
daughters. One son has two daughters and the other son has three sons. How many total

members are in the family?

1) 12
(2) 14
3) 15

(4) 13

e afEr d v g, 39 O, 39 g, 4 92, 3Rl uferal ofn g1 sfeai 31 vek 9 o 6 afeai # oiw ga

o¢ % fF 52 | ufEm d e fohad aee 27

(1) 12
(2) 14
(3) 15
(4) 13

1[Option ID=1665]
2[Option ID=1666]
3[Option ID=1667]
4[Option ID=1668]

Sl. No.18
QBID:1007043

Six friends Geeta, Suresh, Mani. Pradeep. Deeptil and Rekha are sitting in a circle facing the
centre. Deeptl 1s to the left of Pradeep. Mani is between Geeta and Suresh. Rekha i1s between
Deepti and Geeta. Who 1s sitting immediate left of Suresh?

(1) Deept1

(2) Pradeep

(3) Geeta

(4) Rekha

e, s, wfon, g, G SR e @ 3 2 S vk 99 9 99 % ez il S e F0E S 2 ) i v o 9 i
2 | afor =i S e 3 it O 21 T Eifg o i o 5 O 21 g o ard s deH faee #ik dar 27




W

(2) U™
(3) il
(4) T

1[Option ID=1669]
2[Option ID=1670]
3[Option ID=1671]
4[Option ID=1672]

Sl. No.19
QBID:1007044

Relationship between two words 1s given in a sentence. Use the same relationship to find out
which choices complete the relationship with the third word?

Oar 1s to Rowboat as foot 1s to
(1) Running shoes
(2) Excercizing
(3) Skateboard

(4) Leg

T sk e d g1 wreg] o ffe o w2 | 3w o6 39Em #eh fou e fasedi | | 9z viee g
1 ol STe2 o HIe e P S| =0 S Hee e T A 2 9 g Hq2)

(1) ¥ &l d

(2) =HEH
(3) Thedls
(4) @i

1[Option ID=1673]
2[Option ID=1674]
3[Option ID=1675]
4[Option ID=1676]

Sl. No.20
QBID:1007045

Find the wrong number on the given sequence of numbers —

816, 844, 821, 849, 823, 854, 831

(1) 854




(2) g91
(3) 849
(4) 823

HEHAl o A 150 T S 1 e e &l vEeH it -
816, 844, 821, 849, 823, 854, 831

(1) 854
(2) 821
(3) 849
(4) 823

1[Option ID=1677]
2[Option ID=1678]
3[Option ID=1679]
4[Option ID=1680]

Sl. No.21
QBID:1007046

Arrange the following fractions (A-D) in their descending order.

(A  3/5
B)  4/7
(C) 8/9
D) 9/11

Choose the correct answer from the options given below :
1) (C). (D). (B). (A)
(2) (A). (D). (C). (B)

(4) (C). (D), (A). (B)




frefetfiga fii =1 39 =ed %4 ¥ wmeu)

(A) 3/5
(B) 4/7
(C) 8/9
(D) 9/11

=1 Tou o foeredi d 1w 39 o1 =34 e
(1) (C). (D). (B). (A)
(2) (A). D). (C). (B)
3) (D). (C). (B). (&)
(4) (C), (D), (A). (B)

1[Option ID=1681]
2[Option ID=1682]
3[Option ID=1683]
4[Option ID=1684]

Sl. No.22
QBID:1007047

If1° +23 + 3% +.....+ 9% = 2025, then the value of

(0.11F +(0.22F +.....+(0.99F is close to :

(1) 0.2695
(2) 0.3695
(3) 2.695
(4) 3.695
afy 17 +2%+3° +.....+9° =2025 21 (0.11) +(0.22) +.....+(0.99) %19 fa & sz 20w -
(1) 0.2695
(2) 0.3695
(3) 2.695
(4) 3.695

1[Option ID=1685]
2[Option ID=1686]
3[Option ID=1687]
4[Option ID=1688]




Sl. No.23
QBID:1007048

The simplhified value of

1/1 —l]+(1 —E.]+(1 —E]-* ..... Upto n terms is :

n/ n./ n)/
(1) n/2
(2) (n-1)/2
(3) nin-1)/2
(4) 1/n

{1—1].—(1—a+(1—5]+ ..... n W&l e %1 Heelighd 714 T 2 -
\ mn., : n. n.

(1) n/2

(2) (n-1)/2
3) nin-1)/2
4) 1/n

1[Option ID=1689]
2[Option ID=1690]
3[Option ID=1691]
4[Option ID=1692]

Sl. No.24
QBID:1007049

A.B.Cand D share a property worth ¥ 77,500. If A:B=3:2; B:C=50:4 and C:D=3:7,
then what 1s the share of B ?

(1) T20.000
(2) ¥15.000
(3) ¥25.000
(4) ¥ 14.000
A.B.C3R D ¥ 77,500 i vk woafy A fedimn d19fs A: B=3:2, B:C=5:4 3N C:D=3:7,dl

B =1 fexm fapamn 27

(1) ¥20.000
(2)




¥ 15.000

(3) 25,000

(4) <14,000

1[Option ID=1693]
2[Option ID=1694]
3[Option ID=1695]
4[Option ID=1696]

Sl. No.25
QBID:1007050

In a mixture, the ratio of the alecohol and water 1s 6 : 5. When 22 litre mixture 1s replaced by
water, the ratio becomes 9 : 13. What 1s the quantity of water after replacement?

(1) 62 litres

(2) 50 litres
(3) 40 hitres
(4) 52 litres

v el | Ueehiael ST T 1 S 6:5 21 9 2.2 et fgor s we | afdeenta #d € 91 a8 s 0013
E1 A1 2| W19 & 918 91 =i 51 a1 27

i~

(1) 62l
(2) 50 e
(3) 40eTe
(4) 52l

1[Option ID=1697]
2[Option ID=1698]
3[Option ID=1699]
4[Option ID=1700]

Sl. No.26
QBID:1055001

Match List I with List 11 ;

List 1 List 11
(A) Food Intolerance (I} Loss in body weight
(B} Food myths (II) Vomiting
(C) Dieting (IIT) Healthy weight
M BMI 24 (IV) Do not drink water during meals

Choose the correct answer from the options given below :




(1) (A)-(IV), (B)-(I). (C)-(IT), (D)-(I1T)
(2)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(I1T)
(3) (A)-(D), (B)-(IV), (C)-(IT), (D)-(I1T)

(4) (A)-(IV), (B)-(D), (C)-(I1T), (D)-(IT)

A1 % =y =1 g=Ai-11 frermm fifem
i1 Tt 11
(A) WIS STEEAEa (I) IS FI9
(B) wire fireg (firer) (1) =
(C) =[EfEm (I11) 3fea as=
(D) =t 24 (IV) R & a5g g 72 I
= feu o freti 8 & odt s w99 e

(1) (A)-(IV), (B)-(D), (C)-(1I), (D)-(I1I)
(2)  (A)(ID, (B)-(IV), (C)-(I), (D)-(1IT)
(3)  (A)-(D), (B)-(IV), (C)-(1T), ()-(11T)

(4)  (A)X(IV), (B)-(1), (C)-(I1I), (D)-T)

1[Option ID=1701]
2[Option ID=1702]
3[Option ID=1703]
4[Option ID=1704]

Sl. No.27
QBID:1055002

Anabolism and catabolism are chemically linked in the form of
(1) ASP
(2) ATP
(3) ADP
(4) AMP
I it s Crafafias # 3 e o vomafe ven @ gafe 27
(1) nuEH
(2) udd

(3) u .t

(4)




u g

1[Option ID=1705]
2[Option ID=1706]
3[Option ID=1707]
4[Option ID=1708]

Sl. No.28
QBID:1055003

Who discovered that DNA has two helices?
(1) Watson and Francis Crick
(2) Frederick Sanger
(3) Anton Van Leeuwenhoek
(4) Mendel
Freferfiaa & & fre snfaresn foen o6 €1 o, 6 3 efomt &t 27
(1)  aread it i e

(2) s &m
(3) UM AT
(4) #=a

1[Option ID=1709]
2[Option ID=1710]
3[Option ID=1711]
4[Option ID=1712]

Sl. No.29
QBID:1055004

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Heason R.

Asggertion (A):  Transcription involved a Template or antisense strand having 3 — 5
polarity.

Reasons (R) : Non-template or sense strand having 5' — 3' polarity, does not take part in
transcription.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)




(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

=t 2t #um fou o ¥ : s srfirres (Assertion (A)) % w9 # foflaa 2 & 90 39% #1001 (Reasons (R) &

B

afirrem (A) - Zhafsr # e s1uE 9l 5E 37— 57 ygEuran aren e g €
0 (R) : T FPaetz stvET 1 e 5 37 YEvIaT AT St § 9 e o)
ST F9 % STt |, e e famedt | & g8 swgeE s w9 i

(1) (A) 3R (R) 341 @& 8 3 (R), (A) 1 & = @

(2) (A) 3 (R) 3 g &, @6 R), (A) i wdt =men @i 2

(3) (A =R, & (R) st =i 2

(4) (A TEAd e, afFa (R) T 2

1[Option ID=1713]
2[Option ID=1714]
3[Option ID=1715]
4[Option ID=1716]

Sl. No.30
QBID:1055005

Given below are two statements :

Statement [ : The best way to summarize the relationship between oxygen
concentration and the percentage of binding sites occupied in myoglobin
is Hyperbolic.

Statement [1 : The best way to summarize the relationship between oxygen
concentration and the percentage of binding sites occupied in myoglobin
is Parabolic.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement I is correct




fa st we frum .

Fal: St B wEa iR aEreta f sfura atgs v £ sfoeam % g9y = 9w aam w=
Tl st aite & sfamaatis (aEweifs)

FYa I1: St it | o armefa 6 sifasa suas s £ wfaeaa & gag # o sae w1 ge"
I it & Taw e (TrEites)

I FU & Tett 1, A+ fow e et § & g8 suge s v i

(1) w1 3 11 34 aea &
(2) A [ 3R 11 3 oo &
(3) oA [ T 2, wifea o 11 s/ae 2
(4) FH]dEAR, Al FA T2

1[Option ID=1717]
2[Option ID=1718]
3[Option ID=1719]
4[Option ID=1720]

Sl. No.31
QBID:1055006

Which one of the following is an example of epimers?

(1) Mannose and Glucose
(2) Glucose and Ribose
(3) Galactose and Mannose

(4) Glucose and Galactose
Fraferfiga & & w1 2 1 SarEn 87
(1) e i e
(2) v i
(3) e s B
(4) e i e

1[Option ID=1721]
2[Option ID=1722]
3[Option ID=1723]
4[Option ID=1724]

Sl. No.32
QBID:1055007

The reversible conversion of 2-phosphoglycerate to phosphoenolpyruvate is catalysed by
which of the following?

(1)




Trypsin
(2) Enolase
(3) Chymotryvpsin

(4) Hexokinase

feafefia # 9 2-wresmiemt SresTe TaEde % Ierdvita edma &1 3ofE s 27

(1) fafem
(2) #rE
(3)  =rwifEufem
(4) FArETEE

1[Option ID=1725]
2[Option ID=1726]
3[Option ID=1727]
4[Option ID=1728]

Sl. No.33
QBID:1055008

Which statement regarding phosphodiester linkage is true?

(1) 3' — phosphate group of one nucleotide unit is joined to the 5 — hydroxyl group of the
next nucleotide.

3' — phosphate group of one nucleotide unit is joined to the 3'— hydroxyl group of the

2
) next nucleotide.
(3) 5 — phosphate group of one nucleotide unit is joined to the 3'— hydroxyl group of the
next nucleotide.
(a) 5'— phosphate group of one nucleotide unit is joined to the 5 — hydroxyl group of the

next nucleotide.

forforfiga # & #im @1 Fum wreRrere Teema % o o 27

(1) uF fFsiere 768 #1 3' - ®he 9 et fFasiene 5 -angifFre qu % oy g s 2)
(2) UF FfFAsiiene T F1 3 - B 19 3l AfFasiiege 3 -ergfFie qu % @y s[E e 2|
(3) U AfFANEIES T8 F1 5’ - FIHHS 7 ATl AfFasiens 3 -snaiaas 19 F a1y =1 &1 2
(4) s AfFASAEEE 6 F1 5 - BEhe 7 el AfFasiegs 5 -sneiaad 19 % a5 a2

1[Option ID=1729]
2[Option ID=1730]
3[Option ID=1731]
4[Option ID=1732]

Sl. No.34
QBID:1055009




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) : Valine is non-essential amino acid.
Reasons (R) : The lack of essential amino acids in the diet causes Kwashiorkor.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

et 21 e faw Mo : v sifien (Assertion (A)) % w9 # fifiad 2 o 38U 36% F0 (Reasons (R)) &

W

wfirmeE (A) - Fefta arFTEwES i 3 21

0T (R) : FEn # rfar sl o % 9 29 a w2 )

T FA % e |, i few o et | 4 wea 3w 3w = fifen
(1) (A) 3 (R) ZF1 & & o (R), (A) i o = &

(2) (A) =i (R) =T @ &, &fF (R), (A) i ot sren i 2

(3) (A) @, df (R) w7 @

(4) (A F@E e, A (R) &1 2

1[Option ID=1733]
2[Option ID=1734]
3[Option ID=1735]
4[Option ID=1736]

Sl. No.35
QBID:1055010

Which of the following enzymes has its activity elevated whenever the cell's ATP supply is

depleted?

(1) Pyruvate Kinase

(2)




Phosphofructokinase — 1
(3) Hexokinase

(4) Glucokinase

frafefiaa § @ 17 @ vergn 6 ol v @ 6 i smgfd == 29 9 ag s 87
(1)  grEse FE4g

(2) FERFET FwEAE -1

(3) FE FEE

(4) TEF FEE

1[Option ID=1737]
2[Option ID=1738]
3[Option ID=1739]
4[Option ID=1740]

Sl. No.36
QBID:1055011

The enzyme that turns glucose 1-phosphate into glucose 6—phosphate is
(1) Epimerase

(2) Phosphoglucomutase

(3) Glycogen Phosphorylase

(4) Isomerase
frafafiaa & @ 917 @ T wiEE 1 SR F S 6 wEe | ufEtda s et

(1) ufiify
(2) RIS

(3) TEEFENH FEEE
(4) agEHE

1[Option ID=1741]
2[Option ID=1742]
3[Option ID=1743]
4[Option ID=1744]

Sl. No.37
QBID:1055012




Read the statements given below:

Statement I : Pyruvate plays a significant role as a precursor of glucose in animal.

Statement II:  Glucose 6—phosphate plays a significant role as a precursor of glucose in
animal.

Statement [II :  Lactate plays a significant role as a precursor of glucose in animal.

Statement IV :  Glycerol plays a significant role as a precursor of glucose in animal.

Choose the correct answer from the options given below :

(1) Only Statement [ is correct

(2) Statement I, III and IV are correct
(3) All the statements are correct

(4) None of the statement is correct
et few e =herdt afew

Fe | rerEde 1 S H R ¥ 3 g | U weet yfiee 21
FgA Il TohIE 6-HIEhE I FHERI § EhiE % STed B § U Faeayo wft 2|
Fo 111 Swee Y et § o % 370ed 2 5 Heeaqul i 2

FA IV Teireie 6 SEt H e F e a6 | Heeag i 2

et faw o et 8 @ wdt 3 =7 Aifs
(1)  Fae g () adi

(2) e (1), (110) 3T (V) =8

(3) @it i wd E

(4) = wem w7

1[Option ID=1745]
2[Option ID=1746]
3[Option ID=1747]
4[Option ID=1748]

Sl. No.38
QBID:1055013

Which key element(s) governs whether anaerobic or aerobic glycolysis is used to metabolize
glucose?

(1) ;
Presence of high AMP




(2) NADH and the ATP/ADP ratio

(3) (Cat

(4) FADH2

Fraferfiaa % % & o aca Praffo #0025 e o soro=a g @ s wmdfafae g gm?
(1) s=uwEfHEE

(2) TA.T Fvg dF oA fu L d, agaE

(3) C(Ca™

(4) TE.UFUm2

1[Option ID=1749]
2[Option ID=1750]
3[Option ID=1751]
4[Option ID=1752]

Sl. No.39
QBID:1055014

Which of the following amino groups enters the urea cyele first?

(1) Arginino succinate
(2) Citrulline

(3) Carbamoyl phosphate
(4) Ornithine
fraferfiga @ @ anfit svee i = o wewyw waw Fa 87
(1) i
(2) flgef
(3) T FrEEE

(4) g

1[Option ID=1753]
2[Option ID=1754]
3[Option ID=1755]
4[Option ID=1756]

Sl. No.40
QBID:1055015

What does TBP mean?
(1) Transcription factor hinding protein

(2) Transcription associated factor




(3)

TATA box polymerase

(4) TATA-box binding protein

.41, | == st 87

(1) FiafFEem ges duas 9

(2) FiafEem geg wes
(3) Fidiu sy dfenia
(4) Frufu—=rg G99 9

1[Option ID=1757]
2[Option ID=1758]
3[Option ID=1759]
4[Option ID=1760]

Sl. No.41
QBID:1055016

Match the following by identifying the bonds in the biological molecule :

(D)

List I
Glycosidic
Peptide

Ester
Phosphodiester

List II
(I} Haemoglobin
(I) Triglyceride
(III) Collagen
(IV) RNA

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IT), (C)-(I1I), (D)-(IV)
(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)

(3) (A)-(IV), (B)-(ID). (C)-(I), (D)-(I1T)
(4) (A)-(IID), (B)~(D), (C)-(11), (D)-(IV)
geft-1 = Ty =1 geA-11 e Fifem

(A)
(B)
(€)
(D)

=t faw o foeredi & @@t 3w = Aifer -

-1
TETEhITETEE
e

=

[

ORISR

(1)  (A)-(D), (B)-(IL), (C)-(I11), (D)-(IV)
(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)

11
(I) @it
() IEfemss
(IIT) =hiete=
(IV) ST




(3)  (A)-(IV), (B)-(ID), (C)-(1), (D)-(I1L)
(4) (A)-(LD), (B)-(D), (C)-(1I), (D)-(IV)

1[Option ID=1761]
2[Option ID=1762]
3[Option ID=1763]
4[Option ID=1764]

Sl. No.42
QBID:1055017

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  EPO stand for Ervthropoietin which is responsible for Erythropoiesis.

Reasons (R) : Sports Persons use EPO for the development of power.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A)is not correct but (R) is correct

2t @1 e fau M ¥ : vk e (Assertion (A)) % w1 ¥ fafigd 8 @ 350 389% F00 (Reasons (R) %

EH

srfirmeE (A) ; 3.9t 30, =1 g A @ ufrdriie s e et ¥ fore e R

FT (R) : figerdt 3.6 .30 =1 7@ AT T & fow FE 2)

IYEIE YA % AT §, A1 i e et # @ e s I 59 i

(1) (A 3R (R) sHTEd E st (R), (A) Frad =men 2

(2) (A) 3 (R) AT E, S R), (A) T ad e A 2
(3) (AT e afm R w2
(4) (A Td e, dfF R) e

1[Option ID=1765]
2[Option ID=1766]
3[Option ID=1767]
4[Option ID=1768]




Sl. No.43
QBID:1055018

Match List I with List IT :

List I List II
(A) True ribs (I) 3 pairs
(B) False ribs (IT) 2 pairs
(C) Floating ribs (III) 7 pairs

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(ID), (C)-(11T)
(2) (A)-(IID, (B)-(D), (C)-(1L)
(3)  (A)-(IID), (B)-(II), (C)-(T)

(4) (A)-(1I), (B)-(D), (C)-(11L)

geft-1 % @ =1 geft- 11 e fifor

g1 il
(A) 7o ugf () 37w
(B) %2 W an 2=
(C) HF T (IT) 7™
= feu o forpei & @ ot o 1 =199 fifso

(1) (A)-D), (B)-(ID), (C)-(11T)
(2)  (A)-(IID), (B)-(I), (C)-(ID)
(3) (AL, (B)-(ID), (C)-(I)
(4) (A)(ID), (B)-(D). (C)-(I1I)

1[Option ID=1769]
2[Option ID=1770]
3[Option ID=1771]
4[Option ID=1772]

Sl. No.44
QBID:1055019

Which of the following are major sites for glycogen storage?

(1)  Adipose tissue

(2) Bones

(3) Muscle and liver

(4) Kidney and liver




frfafiaa # & 97 1 omFiem duew  geg e 87
(1) =OFaS
(2)  =f
(3) Tft 3 FFa
(4) T sfaFa

1[Option ID=1773]
2[Option ID=1774]
3[Option ID=1775]
4[Option ID=1776]

Sl. No.45
QBID:1055020

How many oxvgen molecules must be bound to haemoglobin to achieve 50% saturation?

(1) 6
(2) 4
(3) =2
4) 7

drreteam # 50% gw aw F % fore fre st sropait 1 o smawas 27

1) &
(2) 4
3) 2
4) 7

1[Option ID=1777]
2[Option ID=1778]
3[Option ID=1779]
4[Option ID=1780]

Sl. No.46
QBID:1055021

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Extra oxygen consumption in human body is known as oxygen debt.

Reasons (R) : The extra oxygen is required by the body to oxidize the accumulated lactic
acid produced during strenuous exercise,

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)




(3) (A is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

et 21 Fu fow o : v stfirua (Assertion (A)) % w9 3 faflaa o g0 36% FW0T (Reasons (R)) &

T

afawe (A) . W iR g s % sifafn = ofefem o e 2

F1 (R) : el Trads it Aravashal TR i THRET gu dfFes o F smadtwo ¥ oo =nfen
i1 FSH AT E IeTH Bl 2

IYLIE A % AT |, A1 faw e et § & aed g I w5 ueA i

(1) () R (®R) T ERE R, (A B EH =TEN R

(2) (A) 3 (R) 21 98t &, &ifFa (R), (A) B ot =men 481 &
(3) (A)TEE, wfm (R) gt 72 8
(4) (A) =& 7 &, o (R) ot &

1[Option ID=1781]
2[Option ID=1782]
3[Option ID=1783]
4[Option ID=1784]

Sl. No.47
QBID:1055022

Which of the following hormones has a significant impact on water absorption?
(1) Somatostatin
(2) Relaxasin
(3) Oxytocin

(4) WVasopressin

fFreferfiaa & & = a1 i o & e W sl warE e 27

(1) ameEwfes
(2) oo

(3) e
(4) FgmufaE

1[Option ID=1785]
2[Option ID=1786]
3[Option ID=1787]
4[Option ID=1788]




Sl. No.48
QBID:1055023

While the birthplace of the red blood corpuscles (RBCs) in the human body is the bone

marrow, their graveyard is
(1) Pancreas
(2) Duodenum
(3) Liver

(4) Spleen

HIE TR § ATe Tk FUEa i Jeaie Heteal 4 aidl &, 3991 3d Fal W 27

(1) HAEH
(2) Te
(3) =Fd
(4) e

1[Option ID=1789]
2[Option ID=1790]
3[Option ID=1791]
4[Option ID=1792]

Sl. No.49
QBID:1055024

Given below are two statements :

Statement [ : The sarcoplasmic reticulum act as a store of calcium ions,
Statement I The sarcoplasmic reticulum present in the muscle cells.
In the light of the above statements, choose the most appropriate answer from the options
given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement [ and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement 11 is correct




FeA (D) Uiz oo Sofimm s S vdenFend sd s 2

Fod (I1) :  Usfgen sferan Usfra wifimmet § et 2

IIF F4A % AT |, F9 fou mu et 4 4 weg svge 3w = il
(1) 31 %A (1) 30 FA (1) 71 2

(2) 3HT %A (1) 3 A (11) Tefd @

(3) FeH (1) @& 2, wifehd A (1D) Terd 2

(4) e (1) Terd 2, Ao e (1) 821 2

1[Option ID=1793]
2[Option ID=1794]
3[Option ID=1795]
4[Option ID=1796]

Sl. No.50
QBID:1055025

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Asgertion (A):  VO: max is considered as the best indicator of cardio-respiratory endurance

and aerobic fitness.

Reasons (R) : Oxygen is the limiting factor in endurance performance and oxygen

consumption for which the limiting factors are genetic.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct




et 21 o fam o ¥ : v sifiem (Assertion (A)) % w9 § forfiaa 2 o ga0 35 #T0 (Reasons (R)) &

ETH

AfiweE (A) - VO: 5 =1 aftas — vaua amar o aratelt st i gatan ges JE a2

FR (R) : eran Freqren qun sfedism swvm d ofrrdiom o afede =i @ el 9 afedoe
FH{aTF B 8

I F o AT 4, A fow o et § @ wed SR I R =9 fifs

(1) (A) 3 (R) 31 a3 § 31 (R), (A) Fi &t =men 2

(2) (A) 3 (R) 3t e &, &6 (R), (A) A ot =men 74 2
(3) (A)FA 2, (R) 393 2

(4) (A) 35 2, a9 (R) o 2

1[Option ID=1797]
2[Option ID=1798]
3[Option ID=1799]
4[Option ID=1800]

Sl. No.51
QBID:1055026

A muscle fibre relaxes when

(1) the nerve stimulus is removed
(2) the nerve stimulus is too forceful
(3) the actin binding sites are uncovered

(4) all the ATP is used up
trsfra e forforer € & =

(1) dfire = =1 gern S 2
(2) dfee 3EA s 2 2
(3) Ul se T @ B

(4) gt u @t = Iu A g w2

1[Option ID=1801]
2[Option ID=1802]
3[Option ID=1803]
4[Option ID=1804]

Sl. No.52
QBID:1055027




According to the World Anti-Doping Agency’s (WADA) most recent report, where does India

stand in terms of Anti-Doping Rule Violations (ADRVs)?

(1) First
(2) Third
(3) Fifth

(4) Tenth

forva vt graa vt (amen) it wre i fard © wia w2 e w9 areiE (ADRVs) § #19 3 T w et
(1) e
(2) Hem
(3) ufemn
(4) =zwal

1[Option ID=1805]
2[Option ID=1806]
3[Option ID=1807]
4[Option ID=1808]

Sl. No.53
QBID:1055028

Given below are two statements :

Statement [ :  Fast-twitch muscle fibres are also called Type [ muscle fibres.

Statement [1 :  Fast-twitch muscle fibres have a relatively small number of

mitochondria and high ATPase activity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement [ and Statement II are incorrect

(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement I1 is correct




= 71w B o E

e [: i o5 w3 ag #5129 1 7eiE ag off FEd 2

Fo I1: e 0 UoiiE 9q30 4 g1 0 F9 B0 ST 399 Aihadr e € 3 O vg (AT Pase) =@

H
L}

I FUA F AAE 1, 4= 5 T fTwed § 1 gen 30 ST R 999 FIan
(1) o]l dE g g

(2) A [ 3 11 &1 mrera &

(3) =wulwd e, dfF s [ mea s

(4) = 1 7era =, afea w7 11 & 2

1[Option ID=1809]
2[Option ID=1810]
3[Option ID=1811]
4[Option ID=1812]

Sl. No.54
QBID:1055029

The first energy source for contractions of very high force lasting 1-2 seconds comes from
(1) glycolysis
(2) creatine phosphorylation
(3) phosphocreatine stores
(4) ATP stores
ae % fore sreafires 3= w@ 9 1- 2 See & foru wean @, Fraforfiaa @ & e weet-aof e 27
(1)  EEwfafiE
(2) e wreweem
(3) WWHEZT WER
(4) it ¥iEw

1[Option ID=1813]
2[Option ID=1814]
3[Option ID=1815]
4[Option ID=1816]

Sl. No.55
QBID:1055030




Cardiae Output is

(1) Blood pumped by heart per minute

(2) Blood pumped per heartheat

(3) Blood pumped per minute during intense exercise

(4) Blood pumped per hour

SRINEULE

(1) =3 g ol e o 1 9w

(2) &g g uft o9e T *199

(3) =9 g ufd fire o =1 09 o =AW % S
(4) T =1 T4 9fd =2

1[Option ID=1817]
2[Option ID=1818]
3[Option ID=1819]
4[Option ID=1820]

Sl. No.56
QBID:1055031

The recommended ratio of Monounsaturated: Saturated: Polyunsaturated fatty acids in a

balanced diet should be
(1) 1:1:1

(2) 1:2:1
(3) 1:2:3
(4) 4:4:4

Tl TAfd STER § GEE A T AAIEEeS - BEies | el SHEEies Fel A # S 2

(1) 3:3:1
(2) 1:2:1
(3) 1:2:3
(4) 4:4:4

1[Option ID=1821]
2[Option ID=1822]
3[Option ID=1823]
4[Option ID=1824]

Sl. No.57




QBID:1055032

Glycolysis is the term for the metabolic pathway that involves the conversion of
(1) glyeogen to glucose-6-phosphate
(2) glyecogen or glucose to fructose

(3) glycogen or glucose to pyruvate or lactate

(4) glycogen or glucose to pyruvate or acetyl CoA
faferfiaa o & remgemferfeng < v sura=reht gy &, o F=1 wqmafa e 27
(1) TETEFRISH F1 oG 6 FEhe |
(2) TEATSHISA AYE] TR F FhH H
(3) TR YT TH I I TRESE HUGT oAFez §

(4) TETEFISA YT TR T TS 3= vfiErger CoA H

1[Option ID=1825]
2[Option ID=1826]
3[Option ID=1827]
4[Option ID=1828]

Sl. No.58
QBID:1055033

Match List I with List 11 :

List I List IT
(A) Change in Nervous system (I) Calcium deficiency
(B) Change in Cardio-vascular system (ITy Slow reaction time
() Loss in senses (ITI} Reduction in cardiac output
(I} Change in Bone Density (IV) Loss of Hearing

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(I)
(2)  (A)-(D, (B)(IID), (C)-(ID), (D)-(IV)
(3)  (A)-(IV), (B)-(I), (C)-(11), (D)-(11T)

(4)  (A)-(IID, (B)-(IV), (C)-(I), (D)-(IT)




Teil-1 % =g = gei-11 Toerm it ;

11 =11
(A) G o ° g (I)  =herrorm =i FHi
(B) 7% A=F1 0 # saeE (1) w7 vt T
(C) =T =l TamT (IID) =t Fem | =i
(D) Afey o7ea § F5eE (IV) T F1 319
4= feu o fawel § © T8 3 F1 =99 i

(1) (A)-(ID. (B)~(IIL), (C)-(IV), (D)-(T)
(2)  (A)-(D), (B)-(IID), (C)-(ID), (D)-(IV)
(3) (A)-IV). (B)-(D). (C)-(IL). (D)-(1LT)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(1I)

1[Option ID=1829]
2[Option ID=1830]
3[Option ID=1831]
4[Option ID=1832]

Sl. No.59
QBID:1055034

In sports physiology, metabolic adaptation refers to the process of metabolic:
(1) Adjustment to enhanced workload demand

(2) Rates suspension
(3) Impulsion

(4) Adaptation ratio
1 TR fora i, ST srpger, Inrea 0 e i F sger 5 et w87
(1) =2 Fu FHrEwR £ =5 @ FEEeE
(2) sqFaHFfEFER
(3) zam

(4) SR ST

1[Option ID=1833]
2[Option ID=1834]
3[Option ID=1835]
4[Option ID=1836]

Sl. No.60
QBID:1055035




Two Statements are provided below, one of which is labelled Assertion A , while the other is

labelled Reason R.

Assertion (A):  The diastolic phase of a cardiac cycle is greater than the systolic phase.

Reasons (R) : A T4 beats per minute heartbeat would have a diastolic phase of
.44 seconds and a systolic phase of .37 seconds.

Which one of the following is correct?
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

Fret 21 e faw o ¥ : v e (Assertion (A)) % w1 fifiaa 2 o ga0 35% 0 (Reasons (R)) #
TOH -

wfire (A) : %54 T %1 S T e =0 ag1 2

FIT (R) 74 e ufy e gea e 7 smfimem =m0 0.44 S5 it U7 =07 0.37 TFS F
F

ITI F94 * o |, = 2o m gt § @ o e 9um fifso
(1) (A) 3 (R) EF1 @3 & 3 (R), (A) it o = 2
(2) (A) 3 (R) g4 gea B, o (R), (A) Ft ot =mem = 2

(3) (A) T 2, &fF (R) sEeg 2
(4) (A) 31E@F 2, il (R) &9 2

1[Option ID=1837]
2[Option ID=1838]
3[Option ID=1839]
4[Option ID=1840]
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A sudden exposure to a cold environment will result in all of the following, with the exception

of

(1) cutaneous vasoconstriction

(2) contraction of the erector piling muscles
(3) increase arterial blood pressure

(4) cutaneous vasodilation

a7 32t aftfedm = s fefefiaa § @it 0 & e o = 8igwt
(1) o=l anfee gt




(2) T AT IO FT TFA
(3) uuta TF =TT F " AT

(4) g arfe fewn

1[Option ID=1841]
2[Option ID=1842]
3[Option ID=1843]
4[Option ID=1844]
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Two Statements are provided below, one of which is labelled as Assertion A , while the other
is labelled as Reason R.

Assertion (A):  The uptake of DNA during transformation is an active, energy requiring
process.
Reasons (R) : Transformation oceurs only in those bacteria, which possess the enzymatic

machinery involved in the active uptake and recombination.
Which one of the following is correct?
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

Fret @t o faw o B v arfirpe (Assertion (A)) % #9 # ffiga 2 @t g50 359 FW01 (Reasons (R) #
1Y

FfirRY (A) - Zioriaer | €t v v T Seuen v giEa St smavas wiEa e

H0 (R) : ZawiHyH Fae 3 famei § @d @ o afrr emew i gratee % fog oemw
et (weftadt et & |

I 4 o et 1, A faw e et § 3w 3w = i
(1) (&) 3R (R) 3 T € 3 (R), (A) i ot = 2

(2) (A) 3R (R) 51 g 2, &ifFa (R), (A) i ot = 961 2
(3) (W) F= 2, &fF (R) sEa 2

(4) (A) 3153 &, e (R o= &

1[Option ID=1845]
2[Option ID=1846]
3[Option ID=1847]
4[Option ID=1848]
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DNA’s structural stability results from

(1)  Presence of thymine

(2) Presence of uracil
(3) Presence of adenine

(4) None of the above

2 wA v Y draane e fefeafiaa 8 @ s ofomm e 27

(1)  ardAFEA
(2) TEEHEAE
(3) WHRFEAH
(4)  39ire & & %1

1[Option ID=1849]
2[Option ID=1850]
3[Option ID=1851]
4[Option ID=1852]
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RER stands for respiratory exchange ratio and measures the ratio of

(1) volume of oxygen consumed + volume of carbon dioxide produced

(2) wvolume of carbon dioxide produced + volume of oxygen consumed

(3) volume of oxygen produced + volume of carbon dioxide consumed

(4) volume of oxygen consumed + body mass
AT 3 A 1 0 % tefitedt v T 2 off e Freefeliaa | @ e s e 27

(1) Fradiee 1 =1fE A+ FEA o1 SEETES F Feaniea S
(2) T % AEGEES T Iqled G + SAEHSH =1 =1fE e
(3)  ayrerdftor =1 IeATfed AFGH + e SEATHATEE 1 safad FFa
(4) ammdfts 1 safed e+ T A

1[Option ID=1853]
2[Option ID=1854]
3[Option ID=1855]
4[Option ID=1856]
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(GGiven below are two statements, one labelled as Assertion A and the other as Reason R.

Assertion (A): A skater has a tendency to continue gliding with constant speed and
direction.
Reasons (R) : Newton's firat law of motion, also known as the law of inertia, states that, a

body will maintain a state of rest or constant velocity unless acted on by an

external force that changes the state.

Which one of the following is correct?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

et 21 #u= feu o § : v sifirree (Assertion (A)) % w9 # fafilaa 2 o g0 39% #1001 (Reasons (R) &

W

wfirERem (A) : Thet $t wafv et 2, v wam =re off famm o ferdw o

F1 (R) : =24 &1 i F1 vy Fw St Sga = Fem o weaa B, F smmn wE e fer s
HT TG T T T S T 1S aTel et 35! stg ® gftgd 78

I F9H & STt A, e T et | & o 3w = i

(1) (A) 3 (R) 3 g 8 3 (R), (A) FI v =me 2

(2) (A) 3 (R) 21 7 €, A (R), (A) i e =men 7 2
(3) (A)#F 2,9 (R) s@ea 2

(4) (A) @ 2, wfe (R) 7 2

1[Option ID=1857]
2[Option ID=1858]
3[Option ID=1859]
4[Option ID=1860]
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High-self confidence, social, friendly, confident etc., traits are present in
(1) Ambivert

(2) Extrovert




(3)  Introvert

(4) Ectomorph

I AATeHfavaTd, e, degl, v genfz sem frafatea § 9 e aosm 8
(1)

(2) =

(3) i

(4) TEETE

1[Option ID=1861]
2[Option ID=1862]
3[Option ID=1863]
4[Option ID=1864]

Sl. No.67
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Natural motivation is also referred to as
(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Interim motivation
(4) Extreme motivation
i v 1 3ga Frefafaq d @ fFaa 27
(1) TR R
(2) e sfirso
(3) Hafw sifiwmm
(4)  sreafos srfism

1[Option ID=1865]
2[Option ID=1866]
3[Option ID=1867]
4[Option ID=1868]
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Unintentional physical harm is called as

(1)  hostile aggression

(2)  instrumental aggression




(3)

assertive aggression

(4) negative aggression

e | 1 el e wfa w8

(1)  wferget stmwRmEFa

(2) =™+ AEEHEFl

(3) SETIEE STHTTEAT
(4) TFHWTHF AHEEHAT

1[Option ID=1869]
2[Option ID=1870]
3[Option ID=1871]
4[Option ID=1872]
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Given below are two statements, one labelled as Assertion A and the other as Reason R.

Assertion (A):  The trait approach in personality fails to predict individual’s behaviour
accurately.
Reasons (R) : The trait approach does not consider the particular situations that might

also influence an individual’s behaviour.

Which one of the following is correct?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

fret @t o faw o & v a1fieT (Assertion (A)) % w9 # ffiga 2 4t ga0 389% F101 (Reasons (R) #
T

Ao (A) - =fhea # Aaro gfeein et =t o =gaen i ad wiasamft % § s/Ewa @@ )

F (R) : e gfwswro fag ofifeufaal =1 e 6 58 wa st et safe o sa9en | agema @

et B

ITF 99 F Tars |, 9= 2o o et § 9 v 39w =m= fifsg
(1) (A) 3fR (R) 31 &ea € 3 (R), (A) At ot same 2




2) (A) 3R (R) =1 a1 &, & (R), (A) 1 8t = 7281 &

(3) (A)HH g, df (R) 36 2
(4) (A) =& 2, ofF(R) o=

1[Option ID=1873]
2[Option ID=1874]
3[Option ID=1875]
4[Option ID=1876]

Sl. No.70
QBID:1055045

(GGiven below are two statements :

Statement [ : Bipolar disorder is a mental health condition that causes both emotional

highs and lows.

Statement 11 : Hypomania is more severe than mania.

From the following choose the correct option:

(1) I and Il both are true

(2) [lis true but I is false

(3) [1is false but II is true

(4) [andIIboth are false

et s Rumu g -

Fg :  aEden e v v aEiis e e & el vyarers 3= o e e E)

Fe I1:  wramtE, 3 & afis mi g

IYEIE U & ATl §, A1 fa e fsRedl # @ ged I I R =EA il
(1) e [ 3f 11 2wt 8

(2) FAHE 2, A+ 11 Tem &
(3) ¥ I 7era &, wifeh Fom 11 ot &

(4) FlzmIlZHiTems

1[Option ID=1877]
2[Option ID=1878]




3[Option ID=1879]
4[Option ID=1880]
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ADHD stands for
(1) Attention Deficit Hyperactivity Disorder

(2) Automatic Deficit Hyperactivity Disorder
(3) Attention Deflection Hyperactive Disorder

(4) Attention Deficit Hyperactive Disease
u g v € ol AW 2

(1) 31 efhfie emufaefad fears

(3) vy et EEwufFes feardt

(4) ez fefie ermofefad fesfa

1[Option ID=1881]
2[Option ID=1882]
3[Option ID=1883]
4[Option ID=1884]
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QBID:1055047

Two Statements are provided below, one of which is labelled Assertion A, while the other is

labelled Reason R.

Assertion (A): A 6-year-old girl demonstrates amazing athleticism as her parents are also
athletes, take her to practice every day and train her on the weekends.

Reasons (R) : Her capabilities are most likely to be the result of an interaction between

growth and development,

Which one of the following is correct?

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct




et @t o faw o E - vF sifiuT (Assertion (A)) % &9 # forfiga 2 4t gan 39% FW01 (Reasons (R)) &
wH

wfirmem (A) - o 6 9fg mfersr St afFa F@ gen faendo eofd & w=ifs sas sfinmas o fagard
# 3 38 T a1vare & foro & o o € of e & ofa o wfsrem i 28 8

F (R) : Faeht erand aioms & famm o ade § aefen G

3T Y = e §, A B gt O @ odt 3w m fifen

(1) (A) 3R (R) 31 @ & 301 (R), (A) i ot samen 2

(2) (A 3R (R) =i g 8, & (R), (A) 9 o8 = 781 2

(3) (A) T &, d@fF (R) sma 2
(4) (A) 315 2, dfFa (R)gea 2

1[Option ID=1885]
2[Option ID=1886]
3[Option ID=1887]
4[Option ID=1888]
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Change or stability in mental activities such as learning, attention, memory, language,
thinking, reasoning and creativity is

(1)  Physical development

(2) Psychological development

(3) Cognitive development

(4) Social construction

arfee afaan 8 agena srgan foma & i, wm, wifa, wm, e, a6 o o 27
(1) it faem

(2) wtaaf fawm
(3) FHEE fa=wm
(4) @rrfsre o

1[Option ID=1889]
2[Option ID=1890]
3[Option ID=1891]
4[Option ID=1892]
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Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Stress is a process,

Reasons (R) : Stress occurs when people perceive an imbalance between the physical and
psychological demands on them and their ability to respond.

In the contexts of the abhove statements which one of the following is true?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A) is false but (R) is true

et 2w faw o ¥ : v e (Assertion (A)) % &0 # frfiga 2 4t ga0 39% F701 (Reasons (R)) &
W

AfirReE (A) - T T U 2l

=01 (R) : T Era & S i wifeR of aarEe ot i wfatEn e i e | segen sve
=1 2l

IYE FUA & AT, A= faw e faswedt § 8 | 3w 9 i
(1) (A) i (R) 91 70 & 3 (R), (A) Fit wet sawen @

(2) (A) 3 (R) i men &, &fF (R), (A) Fir o =ren & @
(3) (A) @ 2, ofF (R) sma 2

(4) (A) 35w 2, dfF (R) o

1[Option ID=1893]
2[Option ID=1894]
3[Option ID=1895]
4[Option ID=1896]
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What thoughts come to the mind when you're under negative stress?

(1)  You think that you can cope with the situation

(2) You think that you cannot cope with the situation
(3) You think that evervthing will get fine eventually

(4) You think that vou will get help immediately

A= | #4 E fan md £ 99 sy e ae e 87

(1) st fFEEd e sasa i
(2)




a9 grea & o et = e o s aea

) symamdEfFsFmd e wmm
(4) ¥ 44 & 6 amoet siee wee faenft

1[Option ID=1897]
2[Option ID=1898]
3[Option ID=1899]
4[Option ID=1900]
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Given below are two statements :

Statement [ When catching a hall, our hand knows when to catch because participating
muscles receive efferent signals from the brain.

Statement I : When catching a ball, our hand knows when to catch because alpha waves
are being generated by our brain.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement II is correct

ﬂ%ammﬁqﬂﬁ

FU1: T8 F THed G99 BHN B9 1 91 2tal & T e wehe & 491 5 v o et afi oafees o
ATETE Haha frerd

FeA I1: 712 ol Thed G99 BH1 219 i 71 2ial & FF e gee 2 # for et aftrss g s 90 39
Bt 8l

I YA % ATt |, A9 v e et § 9 wag 3w s = i

(1) FeA AR Gl &

(2) o 1@ 2, ol w9 11 Tera &

(3) oA [ gt 2, wiferd e 11 Tefd &
(4) FEITeae, afFaFE I ad

1[Option ID=1901]
2[Option ID=1902]
3[Option ID=1903]
4[Option ID=1904]

Sl. No.77
QBID:1055052




Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).

Assertion (A): It is best to adopt outcome goal orientation.,

Reasons (R) : A task goal orientation emphasizes comparisons with your own

performance standards rather than with the performances of others.

Which one of the following is correct?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

et 2t Fu= fow o ¥ : v e (Assertion (A)) % w1 # foflga 2 ot g90 389% F01 (Reasons (R)) #

W

afirrem (A) - uftoms s Iaqete @1 st ades S gl

FI (R) : w1 % wfa Sey =1 ffreeem wew 3o @ o @ weEl % e # wy g w e T
Tl % waT |

ITIF F9 F el 8, A fiu o et 8§ & od 3w = fifsu

(1) (A) 3 (R) 31 Tea & 3 (R), (A) Ft ot samen 2
(2) (A) 31 (R) =1 &ed &, &ife (R), (A) I ot = 781 &
(3) (A) @3 &, #fm (R) a2

(4) (A) 38T 2, @fFa (R) g3 2

1[Option ID=1905]
2[Option ID=1906]
3[Option ID=1907]
4[Option ID=1908]
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The spinal cord's functional division is
(1) Somatic-motor

(2) Somatic-sensory

(3) Visceral-motor




(%) None of the above

% T ¥ Frtteres s Freferfiaa § 8 #Ra 87
(1) grifes-me

(2) grifes-gh

(3) famastes

(4) I H A FE T

1[Option ID=1909]
2[Option ID=1910]
3[Option ID=1911]
4[Option ID=1912]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):  The magnitude of the force of friction depends on the roughness of the
surface.

Reasons (R) : When both the surfaces are smooth, the force of friction reduces to almost
Zero.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

et @1 o faw o B : v aAfise (Assertion (A)) % ®9 # fofiga 2 df g80 389% F101 (Reasons (R) &

BIY :
afirreA (A) - T 3 st 1 afoaro wae % grEea w el wm R
F (R) : w9 g1 Fee Fasrl 2t € 1 =dn 3 a1t 9 S F" Fie 7 7 9@ )

T H9A & AT #, 44 fou T et § @ o 39w 99w Fifsw
(1) (A) 3 (R) SH1 &@ed & 3 (R), (A) it ot s &
(2) (A) 3 (R) =Hi geg &, &if (R), (A) Fi ot e 721 2

(3) (A) @3 2, #fF (R) a2

(4) (A) 3@ 2, & (R) geg 2




1[Option ID=1913]
2[Option ID=1914]
3[Option ID=1915]
4[Option ID=1916]
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Given below are two statements :

Statement [ : A torque is a vector quantity.

Statement [T : When a body is motionless, it is in static equilibrium.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) [and Il both are true

(2) Iis true but II is false

(3) I is false but II is true
(4) 1 andIlboth are false

FOA1:  U3A U Ay A4 2

w1l o= =i firg nfad e 2, o 9z 2ifvs ggem d e 2

I HU F ATl |, A fau e o # 8 vad 30y 3w v i

(1) e [ o 11 51 gea &

(2) FeAITa?, A Fea 11 3w 8
(3) Flumge, s llaa?
(4) oA [ 3 11 31 sraea 2

1[Option ID=1917]
2[Option ID=1918]
3[Option ID=1919]
4[Option ID=1920]
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Parabola is defined as




(1) the path of an object projected into free air

(2) the path of an object formed with air resistance

(3) the path of the object falling vertically down

(4) none of the above

T i @
(1) =% %199 4 a1g § vaifia
(2) g o1 o it g wfodts & a2
(3)  gwq %1 vy <t e = Fed gu e &
(4) I9 H H IS A

1[Option ID=1921]
2[Option ID=1922]
3[Option ID=1923]
4[Option ID=1924]
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Examples of vector quantities are as follows:

(1) Force, mass, weight, pressure

(2) Weight, torque, pressure, inertia

(3) Work, power, friction, impact

(4) Friction, pressure, torque, impulse
fFrfafiaa & @ e wrn & sEem amen?

(1) =, 5=99M, 91, =14

(2) W, 2, 7, g

(3) ®r, viftr, =for, gera

(4) =, =, 2, smEn

1[Option ID=1925]
2[Option ID=1926]
3[Option ID=1927]
4[Option ID=1928]
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Match List I with List 11 :

List 1
(A} Anatomical age
(B} Physiological age
(C) Chronological age
(D) Mental age

List II
(I}  Years, months, days
(IT)y Quality of bone structure
(III) Puberty/Secretion of hormones
(IV) Problem solving

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(II), (C)-(I1I), (D)-(IV)
(2) (A)-1D), (B)-(D), (C)-(ILL), (D)-(IV)
(3) (A)-(ILI), (B)-(I), (C)-(1I), (D)-(IV)
(4) (A)-(ID), (B)-(IID), (C)-(I), (D)-(IV)

weft-1 3 w6 g1 firerm i -

g1
(A) wrtfs 39
(B) iR foramewe 39

(C) w1 35
(D) = 35

=t faw o et 6 4wt 3 == il

(1) (A)-(D), (B)-(ID), (C)-(IIL), (D)-(IV)
(2) (A)ID, (B)-(I), (C)-(I1I), (D)-(IV)
(3) (A)-(1D), (B)-(D), (C)-(1I), (D)-(IV)
(4) (A)-(ID), (B)-(I1D), (C)-(I), (D)-(IV)

1[Option ID=1929]
2[Option ID=1930]
3[Option ID=1931]
4[Option ID=1932]

11
N =, W, fam
(1) sfes deaan =t faerean
(I1T) =T ST 1 ST
(IV) GHE =i gergm
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The direction to which the shot putter applies force to the shot, determines:

(1) The angle of its release
(2) Velocity of the shot

(3) Direction of shot flight

(4) Motion of the shot in totality




Tiren e aren Raergt fora e < 70w et W ae o &, 9 T Puffa w80

(1) 35 |9 1 H:0
(2) TIret =

(3)  irer % = =i fam
(4) Fersu o e

1[Option ID=1933]
2[Option ID=1934]
3[Option ID=1935]
4[Option ID=1936]
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Centrifugal force
(1) is the same as centripetal force
(2) has the same magnitude of centripetal force
(3) has the same direction as centripetal force
(4)  all of the above are true
AT T
(1) ATTF5 & + T9H 7
(2) #THG] T F HHHE THAW 2
(3)  wHfirde ot % g feam 2
(4) I i Ea B

1[Option ID=1937]
2[Option ID=1938]
3[Option ID=1939]
4[Option ID=1940]
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Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The radius of gyration (k) of the forearm for flexion/extension movements is
much larger than for pronation/supination.

Reasons (R) : Resistance to angular acceleration, depends on both of the amount of mass
possessed by an object and on the distribution of that mass with respect to
the axis of rotation.

Which one of the following is correct?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)




(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

= &1 #um feu o ¥ uw sifirrem (Assertion (A)) % ®9 # fofiga 2 & w0 369% #1001 (Reasons (R) &
EUH

wfirReA (A) - g/ Fereaon wifer % fere warg & wfvaorf Brsan sraarm /aamm it sian 7 21

%0 (R) : st e (K) wfa ol fdt s 2 fordt fie % semm w i so% ofa 19 % dei
o Zeaae o femo @)

IR YA % ATl |, A faw o fasmedi | & v 3 =9m Fifsg
(1) (&) it (R) 3w € i (R), (A) A wét =men @
(2) (A) 3fR (R) 31 & &, &f (R), (A) Fi wet =men 781 2
(3) (A) @ 2, & (R) s 2
(4) (A) wEd 2, afF R) 9 2

1[Option ID=1941]
2[Option ID=1942]
3[Option ID=1943]
4[Option ID=1944]
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While running, a runner is exposed to a breeze coming from the other direction. There will be

effects of the wind on the runner.

(1) Zero

(2) Negative

(3) Positive

(4) Infinity

S §U el uTah i 372 faen @ arreft g8 5 vae o0l 2, e aresd e ————— SAGCE
(1) s

(2) T
(3) THIHF
(4) 34

1[Option ID=1945]
2[Option ID=1946]
3[Option ID=1947]
4[Option ID=1948]
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Which of the following conditions does not affect the moment of inertia of a rotating body

about an axis?

(1) Distribution of mass around axis
(2) Orientation of axis

(3) Mass

(4) Angular velocity

Frferfiaa # & #i o offeufmt s e woahs w0 gu fie % sem s = wrfarm = wedft?
(1) 398 = = 371 Zeq0 1 faa

(2) s A feafa (affeRem)

(3) z=HM

(4) Fiofrgam

1[Option ID=1949]
2[Option ID=1950]
3[Option ID=1951]
4[Option ID=1952]

Sl. No.89
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Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).

Assertion (A):  The structural integrity of an object is lost at the yield point.

Reasons (R) : Deformation of a structure is temporary within the elastic region and
permanent in the plastic region.

Which one of the following is correct?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true




EIE AR T I Gl 1 SRR o e e o (Assertion (A)) F =9 o fofga & i T 0% FWT (Reasons (R))
HETH

ATTF (A) : Tt =g it =TT AT weE fag W A2 B S 2
FT (R) : Tt T 1 Tt T & % ioe ST 2 AW TS &9 O T 2
IEE YA F A °, A 50 T ST § 5 HE 3T F =9 S

(1) (A) 3 (R) 31 o= & 3 (R), (A) Y ot = #

(2) (A) 3 (R) ST T &, Sfm R), (A) T od et TE R
(3) (A) @ea 2, &f (R) smea &

(4) (A) 3159 2, dfF (R) o

1[Option ID=1953]
2[Option ID=1954]
3[Option ID=1955]
4[Option ID=1956]
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When a body’'s velocity doubles, its momentum

(1) remains same

(2) doubles

(3) becomes half

(4) becomes 4 times

s foreft fife =1 3m g e 2 ot 3@ FE
(1) H9F TR

(2) FEIEEIR

(3) apen &t s 2

(4) =R AT A S

1[Option ID=1957]
2[Option ID=1958]
3[Option ID=1959]
4[Option ID=1960]

Sl. No.91
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Match List I with List IT :

List I List 11
{A) Iron (I)  Insulin production
(B) Zine (II) Funetioning of nervous system
() Sodium (III) Formation of hemoglobin
Dy lodine (IV) Proper thyroid function

Select the correct option given below:
(1) (A)-(IID, (B)(D), (C)-(ID), (D)-(IV)
(2) (A)-(D, (B)-(ID), (C)-(I1D), (D)-(IV)
(3)  (A)-(IV), (B)-(IID), (C)-(I1), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (C)-(I11), (D)-(T)

geft-1 % g 1 geft-11 fem fifsr

Tt 11
(A) A (I) 3gfem =1 3eameA
(B) fo= (ID)  f= a3 =1
(C) wifem (I11) Fevee 1 e
(D) AEEH (IV) 9ra0ae &1 98 &
et feu mu fomedi o & o2t 3o = v Fife

(1) (A)-(I1D), (B)-(D), (C)-(ID), (D)-(IV)
(2)  (A)-(D, (B)-(II), (C)~(IID), (D)-(IV)
(3) (A-IV), (B)-(ILD, (C)-(ID). (D)-(D)

(4)  (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(I)

1[Option ID=1961]
2[Option ID=1962]
3[Option ID=1963]
4[Option ID=1964]

Sl. No.92
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Which potentially fatal consequence could arise from an extremely low-calorie diet or a lack of
carbohydrates?

(1) Annorexia nervosa
(2) Cardiac arrhythmia
(3) Diabetic shock

(4) Ketoacidosis

fraferfiaa & @ =5 @ ownifea wmes aftome sifa a0 Fedt smen @ fom FreeEee & SR e 8 o= &
e 27




(1) A e
(2) =wnfeas uffin
(3) srmEfeF v

(4) FrRmdHE s

1[Option ID=1965]
2[Option ID=1966]
3[Option ID=1967]
4[Option ID=1968]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Aszertion (A):  The majority of a person’s diet consists of micronutrients only.

Reasons (R) : Micronutrients contain vitamins and minerals

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

fret @t o faw e B : v 1fiem (Assertion (A)) F w9 # ffiaa 2 f 380 39% FW01 (Reasons (R) #

®IH -

AfirreA (A) - fereht =aftr o mem =1 srfireram s Shaet gem Tl 1 o1 A 21
A (R) - gewdr 4 faeifim of afie 8 2

T 44 % 3T |, 99 o o R § @ of 39w =99 fifsu

(1) (A) 3R (R) 391 53 & 301 (R), (A) it 581 =men 2
(2) (A) 3 (R) 3 g &, @ (R), (A) i a8 =men 72 2
(3) (A)FF &, (R) 3@ 2

(4) (A Ea 2, A R) T3 2

1[Option ID=1969]
2[Option ID=1970]
3[Option ID=1971]
4[Option ID=1972]
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Which of the following best explains how fat droplets are spread throughout milk to prevent
the formation of a cream layer?

(1) Homogenisation
(2) Hydrogenation
(3) Pasteurisation

(4) Holder process

frferfiaa # @ =1 a1 fosre e siferes wae & 4 s 2 o forg weer amn =0 gu o S @ m o =61
T | T ST )

(1) gwiE
(2) FTEEMRHIE
(3) g

(4) -:'_:.ll"-:{ };1";‘ 2]

1[Option ID=1973]
2[Option ID=1974]
3[Option ID=1975]
4[Option ID=1976]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):  Vitamins are carbon-based molecules that are necessary for the body to

function and grow normally.

Reasons (R) : The body needs vitamin D for healthy muscles. Lack of vitamin C causes
night blindness and also effects kidneys, nervous system and digestive

system.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct




fret 2 e faw o & v 1fieT (Assertion (A)) % &0 # forfiga 2 4t ga0 399 #1001 (Reasons (R)) %
TOH

sfirem (A) faarfem s amenfia o) 8 < s w5 oft amr= o % fom oifamd 2

F101 (R) - i =it faerfys & it savasa ey ofve & fou 2) faefim ot 6 ot @ it 26 2
S T, At a9 off a3 v oft e ggar 2

IYEIE YA & AT A, A9 e fasedt § & adt 3w amm i
(1) () 3 (R) 31 & & 3 (R), (A) 1 gt = 2

(2) (A) 3 (R) =i e &, &1 (R), (A) i aet =men 78 @
(3) (&) T 2, dfF (R) s 2

(4) (A) @ 2, ofEa (R) oea 2

1[Option ID=1977]
2[Option ID=1978]
3[Option ID=1979]
4[Option ID=1980]
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How much exercise is advised per week to prevent from heart disease?

(1) 60 minutes on average
(2) 90 minutes on average

(3) 120 minutes on average

(4) 150 minutes on average

#ed T == o fou sfoews e smam w3 27
(1) e 60 fie

(2) {90 e
(3) =itEad 120 fiFe
(4) @Ea 150 fime

1[Option ID=1981]
2[Option ID=1982]
3[Option ID=1983]
4[Option ID=1984]
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QBID:1055072




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) Risk for heart disease rises if Body Mass Index (BMI) is more than 24.9.

Reasons (R) : It increases blood pressure, triglycerides and lower HDL cholestero levels.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (&) is not correct but (R) is correct

4= =1 %o Bu U E v ataEeE (Assertion (A)) F =9 ° foffga & TH 5% FM0 (Reasons (R))

HATHT (A) 7 IR 598 G (51,00, 31) 1 qe4 24.9 © Al 7 a1 5ad U H T@au 9 9
e 7
=+ (R) : I THFAM, TEAERIES TGSl £ 3N U9 2.0 HenIe % W F FH A 2

W HUA F A H, A9 750 T {8 9 w8 3 6 =99 Hien
(1) (A) 3R (R) a1 & & 31 (R), (A) i | =men 2

(2) (&) 3fR (R) 21 aca &, A (R), (A) F ot =men i 2

(3) (A) @ 2, @fF (R) e &

(4) (A) 35 2, o (R) 5 2

1[Option ID=1985]
2[Option ID=1986]
3[Option ID=1987]
4[Option ID=1988]

Sl. No.98
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What kind of eating plan is suggested for weight maintenance?

(1) Low protein and low GI

(2) High protein and high GI
(3) Low protein and high GI

(4) High protein and low GI




ot 5 T % fer form s oY weron Airern = g e s @7
(1) =" 9 o F:m e

(2)  ifers wrdm oii srfas sft.am

(3)  =w Wi i arfas +ft.am

(4) e W of w9 sf.am3

1[Option ID=1989]
2[Option ID=1990]
3[Option ID=1991]
4[Option ID=1992]

Sl. No.99
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The hormone is known to suppress appetite.

(1) Resistin

(2) Adrenalin

(3) Leptin

(4) Relaxin
B ¥ I = 2
(1) fefe

(2) ugHe

(3) @f=a

(4) tefaEa

1[Option ID=1993]
2[Option ID=1994]
3[Option ID=1995]
4[Option ID=1996]
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A):  Normally, a pressure gradient of 100 to 105 mm Hg exists across the

respiratory membrane for oxygen.

Reasons (R) : The rate at which oxygen diffuses across the respiratory membrane

depends on the magnitude of the pressure gradient.

Which one of the following statements is correct?
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

Fret 2 e faw o ¥ : v i (Assertion (A)) % & # fofaa 2 o g0 39% 0 (Reasons (R)) &

Y -

sfirmem (A) - T Yagq g % s 100 # 105 fufy ot w1 9 s da @)

#1001 (R) - fom o g Sidfiom vaaa gt % smom faofa ot @ 9t o s o afemn @ sk
FA1 2

ITH FI4 * e |, Fi= 2o m fwedt § @ a8 3w 97w fifso

(1) (A) =it (R) 51 @ea & of (R), (A) Fi ot s 2

(2) (A) 3 (R) 21 g €, fF (R), (A) i ot =amen w2

(3) (A) = 2, wfF (R) srmeg 2

(4) (A 3@ 2, &6 (R) oo 2

1[Option ID=1997]
2[Option ID=1998]
3[Option ID=1999]
4[Option ID=2000]




